
Minusrechnen (bis 20 000)

Aufgabe 1

1. 19 804 - 5 322 =   

2. 19 294 - 7 356 =   

3. 19 439 - 9 568 =   

4. 13 907 - 5 246 =   

5. 15 022 - 11 897 =   

6. 17 664 - 13 892 =   

7. 15 986 - 14 899 =   

8. 14 123 - 5 705 =   

9. 11 074 - 9 142 =   

10. 14 137 - 10 082 =   

Aufgabe 2

1. 16 789 - 9 698 =   

2. 18 885 - 2 200 =   

3. 10 851 - 7 951 =   

4. 5 681 - 2 126 =   

5. 17 824 - 7 488 =   

6. 13 009 - 5 888 =   

7. 15 459 - 15 004 =   

8. 14 932 - 4 941 =   

9. 18 632 - 3 760 =   

10. 12 742 - 6 418 =   

Aufgabe 3

1. 7 628 - 4 057 =   

2. 12 928 - 7 359 =   

3. 15 027 - 14 669 =   

4. 6 530 - 6 152 =   

5. 7 178 - 6 909 =   

6. 16 327 - 7 825 =   

7. 19 375 - 17 747 =   

8. 17 487 - 8 936 =   

9. 16 428 - 4 736 =   

10. 12 014 - 9 550 =   

Aufgabe 4

1. 13 613 - 3 901 =   

2. 18 298 - 17 130 =   

3. 12 453 - 8 057 =   

4. 7 175 - 4 443 =   

5. 14 486 - 11 956 =   

6. 18 205 - 3 614 =   

7. 17 726 - 3 592 =   

8. 17 801 - 7 163 =   

9. 16 029 - 2 493 =   

10. 19 476 - 18 449 =   
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Minusrechnen (bis 20 000)
| ANTWORTEN

Aufgabe 1

1. 19 804 - 5 322 =  14 482

2. 19 294 - 7 356 =  11 938

3. 19 439 - 9 568 =  9 871

4. 13 907 - 5 246 =  8 661

5. 15 022 - 11 897 =  3 125

6. 17 664 - 13 892 =  3 772

7. 15 986 - 14 899 =  1 087

8. 14 123 - 5 705 =  8 418

9. 11 074 - 9 142 =  1 932

10. 14 137 - 10 082 =  4 055

Aufgabe 2

1. 16 789 - 9 698 =  7 091

2. 18 885 - 2 200 =  16 685

3. 10 851 - 7 951 =  2 900

4. 5 681 - 2 126 =  3 555

5. 17 824 - 7 488 =  10 336

6. 13 009 - 5 888 =  7 121

7. 15 459 - 15 004 =  455

8. 14 932 - 4 941 =  9 991

9. 18 632 - 3 760 =  14 872

10. 12 742 - 6 418 =  6 324

Aufgabe 3

1. 7 628 - 4 057 =  3 571

2. 12 928 - 7 359 =  5 569

3. 15 027 - 14 669 =  358

4. 6 530 - 6 152 =  378

5. 7 178 - 6 909 =  269

6. 16 327 - 7 825 =  8 502

7. 19 375 - 17 747 =  1 628

8. 17 487 - 8 936 =  8 551

9. 16 428 - 4 736 =  11 692

10. 12 014 - 9 550 =  2 464

Aufgabe 4

1. 13 613 - 3 901 =  9 712

2. 18 298 - 17 130 =  1 168

3. 12 453 - 8 057 =  4 396

4. 7 175 - 4 443 =  2 732

5. 14 486 - 11 956 =  2 530

6. 18 205 - 3 614 =  14 591

7. 17 726 - 3 592 =  14 134

8. 17 801 - 7 163 =  10 638

9. 16 029 - 2 493 =  13 536

10. 19 476 - 18 449 =  1 027
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